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SME=(20.563"*500#) + (4.00007*850#) +((—FA*COS 58.841)*(7.4375"))+ ((FA*SIN58.841)*(.57000))=0
13681.5"# +((—FA*COS 58.841°)%(7.4375"))+((—FAy*SIN58.841)*(.57000")=0

13681.5"# +((—FA*COS 58.841°)%(7.4375"))+((—FA/*SIN58.841)*(.57000”)=0

13681.5"# +(—FA*3.8483) + (—FA*.48777)=0
—(—FA*3.8483) — (—FA*.48777) —(—FA*3.8483) — (—FA*.48777)=0

13681.5"# = (—FA*3.8483) + (—FA*.48777)

13681.5"# = —FA*4.336T
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3155.3# = —FA

—-3155.3# = FA

SFE=-850# + (—3155.3#*C0S 58.841°) + FB=0
—2482.6# + FBx= 0
—FBx —FBx

—2482.6f#= —FBx
2482.6#=FB

SFH=—500# + (3155.3#*SIN 58.841") — FBy=0
—2200.1 — FBy= 0
+FBy +FBy
—2200.1#=FBy



